4x4 ACCESSORIES

PRODUCT : RECOVERY POINT

FITTING

INSTRUCTION

SUITE TO VEHICLE : MITSUBISHI TRITON 2010

@E)

Bush M12x 1.5x 90, 8 Pcs.

\/
'

Bracket , 4 Pcs.

Hax Head Bushing M10 x 1.25
, 2Pcs.

Bolt M10 x 1.25 x 45, 2 Pcs.

Bolt M10 x 1.25 x 30, 2 Pcs.

Bolt M12 x 1.5 x 35, 8 Pcs.

8

©

Washer M10, 4 Pcs.

©

©

Washer M12 , 8 Pcs.

o
o

Nut M10 x 1.25, 2 Pcs.




	Triton 2010 Layout1

